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Do not open this booklet until asked to do so...

RATIONALIST TALENT SEARCH EXAM 2018

STD: VIl & ;:¢a Roll No.

Date of Examination : 11 February 2018, Sunday
glgnefferdt g=A / Guidelines for the Candidate

1. U9 Yftaehdict Te U9 SIS AT et Faser Wt e we.
Please make sure that all questions are printed properly in Question booklet or
not.

2. YT AT & TRET SHATERTE ek UTHiehT (e TeaT=l W Shied ST,

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

3. ufken g& guangd fageneatn e dyut Al Wt wvarEdt 30 fafRe it as qvam
EES

You will get additional 30 minutes to check and make sure about the information about
yourself on the Answer Sheet before the start of the exam.

4. FQ IGRETRALE TRUT 100 T ST Tedkeh TYETS! 2 T[0T 3Tz
This question booklet contains 100 questions each question carries 2 marks.

5. ©d U9 AUl STavaeh 3TE. Yeheal ScIagge! MasTeiedl TN $Haeare! Sehi T[0T Tl het
HTUTR ATEH.
All questions are compulsory. There is no negative marking.

6. SIUCHATY ! TR [HeaTeaTH W T Tl
Check to make sure that you have received the appropriate test booklet for your standard.

7. UATEMER thaes Tehd el sRIeR TR, SNieR ScRTETs! Uehe

There is only one correct answer. Choose onIy one option for an answer.

8. IcalTaN U WIUATHTS! Sheles hiest / fHest T SieTa=<r anawrEt.
To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black
Ball, Pen only.

Eg.

Q. x : - Fill in the blanks.

My father went..........covrvecrrcenennes To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding To option a) in the Answer

Sheet as follows.
CORRECT METHOD WRONG METHOD

| @OOO| [«x @GO @]
9. UM HUCHTER gl ScUTIhT THALTERIEhE IR SHUTal.

Return the Answer Sheet to the invigilator at the end of the exam.

10. STTIET URET SHHTH TITYREThar GEaT ToTeTal a Het TYgieceht URET ShicTaeiFaR e diad
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Write your Roll No. on the Question Paper too and take it home for future reference.

Visit www.rtsexam.com for answer key after 8 days




Select the wrong adjective-adverb pairs.

A) Warm - Warmily  B) Brief - briefly C) Calm - Calmly D) Warm - Warmly

Identify the tense of sentence.
We will have finished our examination by next week.
A) Future tense B) Present perfect tense

C) future perfect tense D) Future perfect continuous tense

Replace the adverb in the following sentence by their opposite word.
Let us face the situation boldly.

A) Clearly B) Cleverly C) Timidly D) hopefully

Choose the kind of pronoun of the underlined word.
His room is a like ours.
A) Possessive Pronoun B) Personal Pronoun

C) Reflexive Pronoun D) Interrogative Pronoun

Change the following Direct speech into indirect speech.

My cousin said, “My room-mate snored throughout the night.”

A) My cousin told that her room-mate may snore throughout the night.

B) My cousin complained that her room-mate snored throughout the night.
C) My cousin told that her room-mate snored throughout the night.

D) My cousin said that her room-mate had snored throughout the night.

Fill in the blank with appropriate preposition.
The weather is not good here December.

A) till B) in C) beyond D) at



10.

11.

12.

13.

In the question below, there is certain relationship between two given words choose the correct
alternative.

Embarrass : Humiliate
A) Annoy : Exasperate B) Difficult : Painful

C) Embezzle : Peculate D) none of these

Find the synonym of the word written in capital letters.

VIADUCT

A) Pipe B) Mortal C) Bridge D) Leave
foregenedt yreg=n vata Fae.

<RUUT X

A) T[S B) 3t C) 3e8e D) ShTeead

TA: I Shetel HTHUT — JTEqEETaEaet Er ?

A) TR B) TAHTIUT C) QuTyuT D) &R
A) it B) @S C)Sah D) 3fat
WA ATFIIRIRTE TR 372f ShivTan ?

TeRT AT ST —

A) Fiewe gt B) SheTeRd TON C) stfavra farct arevt D) v uRferdt sramt

N

WA AR U SR are fHae.



14.

15.

16.

17.

18.

19.

A) 37T TE TR, B) STGITRI TGS ST <.
C) HATEET HITHIA HHeb. D) Tt e udt ureaa.

“WETEH! Tt T TR I shedl a1 faeTdie! STerIsehR ST .

A) e T B) Wger AT C) fax arer D) ATdh! AT

A) STEINTE B) AcYEN C) Sgeitet D) =558

1000 It &. FHAAVIR Ufgett ARea Fersrae hiorar ?
A) TEHTE B) STgEet — ? C) Shrfare D) Taeie

Which one of the following is the first Indian cinema which earned 1000 crores?

A) Padmavati B) Bahubali-2 C) Kaabil D) Toilet
TRIFE TECUAL <hIvT ST ?
A) for=ht ofa B) oft fomfum C) SH-gTA Hehl D) SFTeE 2

Who is the president of france?

A) Shinzo Abe B) Xi Jinping C) Emmanuel Macron D) Donald Trump

STTHHTTN AT FHhH STTCATTRIT T hHITT 3T ?
A) TET ThieR B) ar=i f&m C) fuek e NESCIRCT

Who is the managing director of ICICI bank?

A) Chanda Kochhar  B) Arjan Singh C) Deepak Gupta D) Angela Merkel

Ryt uis=e’ 1 vTeg WicieTih! hiuTe WesTol Tatdd T ?



20.

21.

22.

A) STERE e B) Fedicl C) Bettdiet
The world ‘Silly Point’ is related with the game

A) Basket Ball B) Foot ball C) Holly ball
‘PAYTM’ & G&ATe Thid 318 ?

A) GT3, HERTS: B) fawett

C) et TRt D) Jut, WERTS
Where is the headquarters of PAYTM located?

A) Mumbai, Maharashtra B) Delhi

C) Noida, uttarpardesh D)Pune, Maharashtra
HTASAT A ST STEALT hIUT el ?

A) 71.0.%5. HI2R B) &.TA. sfiseom C) uq. 49118

Who was the president of 7" pay commision?

A) Justice A.K.Mathur B) B.N.Shrikrishna C) M.P.Shah

R REwEA HIUTAT AT ATUEAT ATl ?
A) Feta B) STRAT(A C) smfan

Which gas is used in the refrigerator?

A) Neon B) Argon C) Ammonia

D) fereke

D) Cricket

D) ATkt AT

D) none of these

D) TG

D) Hydrogen



23.

24.

25.

26.

AT [SRTUN ST T ITASY SATHUTR WRATA Uit ITgX ShivTd ?
A) US3 B) feeett C) o8 D) Shetehedl

Which one is the first city in India to have Wi-Fi connectivity in public places.

A) Mumbai B) Delhi C) Chennai D) Kolkata

arreeforem stum 2f (afgen wahit) 2020 = forara ot Risen ?
A) fega faferara B E ISR IECIEED
C) wfan Tt D) & faferara

Who wins the 2017 Australian open women'’s single title?

A) Venus Williams B) Kristina Mladenovic

C) Sania Mirza D) Serena Williams

TEE & hivTen Westeh Tafea o ?

A) TR e KA C) R D) gfecares

Gurudeep Singh is associated with which sports?

A) Boxing B) Table tennis C) Weightlifting D) Chess

JTEUT | ST TohaTa T SATEAT, d IVl WIS GRS i@ gid ?
A) T B) WISt C) affes D) T[Tt

Arun Sadhu, Who passed away recently, was the renowned writer of which language?

A) Telgu B) Marathi C) Tamil D) Gujarati



27.

28.

29.

30.

31.

WRATEAT 731 Y& <ATATEI Ut hivft I19er saett ?
A) T R B) fvet = C) IIGR Tt D) faues fusn

Who has been sworn in as the new chief Justice of India(CJI)

A) Navneet Kaur B) Nirmal Jain C) Shekhar Gupta D) Deepak Misra
Rreaitrerr=ar=i fae wvrw@ ?

A) T NRET TR B) TS TiehEAT STTANT

C) *hg TR D) T TIHR

Collector is selected by

A) Union Public Service Commission B) State Public Service Commision

C) Central Government D) State Goverment

SN ST GoaTd Taid JUH iUt 9T el 3718 ?
A) 3TafeeR B) W C) SU= D) Te1S

The Industrial Revolution began in

A) America B) France C) Japan D) England

WRATEA AeUugraTat forum o fohedt STama eimT ?
A) 30 o8 B) 34 o C)25 a4 D) 21 &&

What is the minimum age prescribed to become the president of India?

A) 30 Years B) 35 Years C) 25 Years D) 21 Years
HANTTeeh TehEEa foa® el AR Shell STl ?
A) 11 & B) 11 5@ Q11w D) 11 ufSiet

On which day is the world population day celebrated?

A) 11 July B) 11 June C) 11 May D) 11 April



32.

33.

34.

35.

36.

5 @
Evaluate:
(101)3

A) 1010101 B) 1020201 C) 1030301 D) 1040401

I TIST:

Factorise:

X% + 4xy + 4y* -97°

A) (x + 2y + 3z)(x — 2y + 32) B) (x — 3y + 3z)(x + 2y -32)

C) (x + 2y +3z)(x — 2y — 32) D) (x — 2y — 3z)(x + 2y -32)

1.5 fiex ae] sTeeiean TR 9EE HTET.

A) 3.375 1 B) 3.375 Ht C)3.375 W D) 3.37502 W’

Find the volume of the cube with a side 1.5m.

A)3.375 m? B)3.375m C)3.375m’ D) 3.37502 m?

V4096 = 64, W

V4096 +1/40.96 +/0.004096 <h fma it 2

A) 70.646 B) 60.464 C) 70.464 D) 60.646

If V4096 = 64, then find the value of V4096 +v40.96 +v0.004096

A) 70.646 B) 60.464 C) 70.464 D) 60.646

T T S 45 9 T SEI UNR 7:8 1R ; T 1 iF HEAT ThivTe ?

The sum of two numbers is 45 and their ratio is 7:8, then find the numbers.

A) 21,24 B) 35, 40 C) 20, 32 D) 35, 20



37.

38.

39.

40.

41.

T R ATeha TAR Fetedl SiehiTe gthes 81 <. 1. 11, SR 1< AReN ateheld AUTGBIHR faetl
T T AYTGBT SIS Tohell BI5eA ?

A) 22 A0 B) 44 A7 ) 77 A’ D) 154 A4

If a wire is bent into the shape of a square, then the area of the square is 81 sq.cm, When the wire is
bent into a semi circular shape, the area of semi circle will be

A) 22 cm? B) 44 cm?® C) 77cm? D) 154 cm?

TR 8 T & 6 i Tl T T FTACICAT T STRIATRA F1are B 576 Tl 3T @ gigren Wt
.

A) 11 O+t B) 12 ©+H C) 13 U+ D) 14 &+t

The length and breadth of a rectangular tank is 8m and 6m. If its volume is 576¢cm?, then find its
depth.

A)11cm B) 12 cm C)13cm D) 14 cm

Teh! SETEA1 1Y TR AT 120° 112, TR cT=a ST feTel Sl A °

The measure of a minor arc of a circle is 120°, then the measure of the corresponding major arc is

A) 120° B) 240° C) 360° D) 60°

Teh TEEY F T Yol Aot Sare SN 45 ST, Tiea Jar UThRR 200 T8 0 @kt i a2
Fal.

Sum of the ages of father and his son is 45, Product of the their ages is 200, then the present ages
are

A) 25,8 B) 20, 10 C) 30, 10 D) 40,5

T THEER e ST A 243 3R @ W gaid gF o ¥aid Aish g 9
.



42.

43.

44,

45.

46.

Sum of three consecutive natural numbers is 243. Then the sums of the greatest and smallest
numbers of them will be

A) 162 B) 160 C) 163 D) 161

WIcTUeh! HaTd g o TaTd HigT STYUTiehTt st fehell ?

What is the sum of smallest and biggest fraction?

6 3 4 2
7’4’5’3
32 45 31 22
A)— B) — C)— D) —
21 28 20 15

TehT UTUITEAT EieTit il 1.5 Tiex &4t 1.2 Tiew emfor 3=it 30 wHt o1 R it g Yol SRuarenst femedt
forer moft emer 2

A) 1540 . B) 770 T C) 540 . D) 5400 fe.

How many liter of water is required to fill the empty water tank of length 1.5m, breadth 1.2m and
height 30cm to its full capacity?

A) 1540 lit. B) 770 lit. C) 540 lit. D) 5400 lit.

TR UHT ST SIS 7X —25x—12 70T i eAreht (7x+3) S R < SAETaren Heit fohedt 2

If the area of rectangle is 7x*— 25x — 12 and its length is (7x + 3), then find its breadth?

A) (x -3) B) (x - 4) C)(x+4) D) (x +3)

W &4 .

Simplify the given expression:
39y? (50y-98) + 26y*(5y+7)

A) 3(Sy + 8) B) 15y + 21 C) 15y - 21 D) 18y - 21

(222)% - (111)* =?



47.

48.

A) 36963 B) 63936 C) 96363 D) ITAh! AT

(222)% - (111)* =?

A) 36963 B) 63936 C) 96363 D) None of these

WTEACTIeh! hIUTE STell JaTsit GUTeig T8 Jreasil Hefoe e ?

¢ .Ih Sfean dex

2.3TTETE T2 IR

3. AR Satama ueEweh

¥ .3 S &m

A) 1 amfor 3 B) 1 amfur 4 C) 3 amfur 4 D) 1 3fut 2

Which of the following is related to Subhashchandra Bose?
1. Free India center

2. Azad Hind Government

3. Mediation of naval ratings

4. Indian Independence league

A)1and3 B)land 4 C)3and 4 D)1and?2
AL A Uil T2 Heft g ?

A) 16 =8 1700 B) 27 3T 1776

C) 16 == 1773 D) 5 At 1772

Bostan tea Party incident took place on
A) 16" December 1700 B) 27" August 1776

C) 16" December 1773 D) 5'" March 1772

10



49.

50.

51.

52.

53.

YITTER A WTATA AU FeARTRISR MR F0ATH TehR fdel.
A) TTESTA TASUT B) &R UeTeUT C) ST TeTeut D) JeAdH AUl

Which of the following platoon refused to open fire on satyagrahis at peshawar.

A) Garhwal Platoon B) Lahore Platoon C) Karachi Platoon D) Multan Platoon

A) HeT8 B) WgTH C) g D) SheTehed

The English established their first factory in India at

A) Mumbai B) Madras C) Surat D) Kolkata
WRATA U SUSH TAdu= It T6 het ?

A) =TT THATEA T B) I.u.fZh

C) =ie faforam s D) WETeHT Tt

Who started the first English newspaper in India?
A) Raja Rammohan Roy B) J.A.Hickey

C) Lord William Bentick D) Mahatma Fule

1919 =1 WA TR HIEGT WU iU ATEH Gl HGEe Sl ?

A) Tt - fifer gemon B) WWpaifen sfae

C) fuew 3fean sfewe D) AW — TUFAHE FLRUT

The government of India act, 1919 is also known as,

A) Morley-minto act B) Regulating act

C) Pittis India act D) Montague — Chelmsford reforms
URA AT hiTiErel ek HIVIH et ST ?

11



54.

55.

56.

57.

A) TIETeHT TTiEft B) U.311.8H C) g it D) =Tes TRTER eweh
Who is called the ‘father of the Indian National Congress’

A) Mahtma Gandhi  B) A.O.Hyum C) Surendranath Banerjee D) Bal Gangadhar Tilak

Hiare fHvM WRAT HuTe "l 31T ?

Cabinet mission came to India in the year.

A) 1946 B) 1945 C) 1942 D) 1941
HRATS UfEet SEIETd hivl g ?
A) I8 TN B) (S qrEA C) ATS SR D) TS =T

The first viceroy of India was

A) Lord Elgin B) Lord Hardings C) Lord Dalhousie D) Lord Canning

TSIl TATEHW TecANTTE Ueet TAT “TER & Suneht shivft faet 2
A) TETewT gl B) WIS g
C) TG e& D) HIeTHT 37eget et SATSG

After the Bardoli Satyagraha the title of ‘Sardar’ to Vallabhabhai Patel was given by

A) Mahatma Gandhi B) Motilal Nehru

C) Jawaharlal Nehru D) Moullana abdul kalam azad

AT T <ol &g hedt ?

A) &g fum B) ARA &I C)eiig wiare® D) faferem dfes

‘Sati’ was abolished by

12



58.

59.

60.

61.

A) Lord Ripon B) Warren Hastings C) Lord Cornwallis

TReTUT 71 forwe shioten i 34t ?
A) T B) SR C) AR i

Defence as a subject falls in

A) State list B) Union List C) Concurrent List

WRAT TSR A gk SATANTIA TATIAT Shegl Thedt ?

When did India found the National Human Rights commission?

A) 1993 B) 1992 C) 1997

RGN GRATGETCA S SIeEH

A) TTRTSTER ST

B) GEITAATE & UTTehtaT SRIaNel de

C) ey fFrator grom st

D) TRTea NefUTeh Glaermen s1HmE

The main challenge before the security of India is -
A) Regional Imbalance

B) Terrorism and conflict with Pakistan

C) Problems arising out of poverty

D) Lack of sound Education System

WACTUh! W3; 4T hIUTT ?
The metal which is soft?

A) Na B) Pb C) Al

13

D) William Bentinck

D) ITUh! AT

D) None of these

D) 1991

D) Cu



62.

63.

64.

65.

66.

WicleTden! foreien arger 4T ST ?
A) Freret B) =Iidt c)y| D) Wifeam

Metal which is the best conductor of electricity?

A) Nickel B) Silver C) Gold D) Sodium
foresauaT WIsETe UeheR ShIvTd ?
A) Shicrad B) THIER C) Riee D) e

Electric charge is measured in:

A) Coulombs B) Amperes C) Volts D) Watts

FETA AT STEact qU FHesert § shivten Tehrett ST Hishan g ?

A) STTTRaSteRTT B) SEHTARA C) ferzermum D) &Tqut
Hydrogenation of vegetable oil is reaction.

A) Oxidation B) Exothermic C) Dissociation D) Reduction
AR WTETeUeh! T e U1 Jgetal ?

A) Thevliam SATeITEE  B) Tifeam ArRe C)tis D) IR Hethe

Which of the following changes its original colour, when heated?

A) Calcium Oxide B) Sodium nitrate C) Salt D) Copper Sulphate

== fAfiidiad fafererta smetiaadsn aTw et St ?

A) famie B) 3T C) FIEHATIR D) == Bd

Silicon dioxide is used in the manufacture of

A) Cement B) Acids C) Pesticides D) Housing roofs

14



67.

68.

69.

70.

TEITUeRT ot St eIt o1 ?
1. 99Tt — 90T vgHd

2. 39T AW — ST Uged
3.forht — ot uegerd vt

4. 9E ANTEE — FATER Uit

A) 1 ot 4

B) 2 3tifut 3 C) 3 3mfot 4

Which of the following is wrong pair?

1. Rice crop — Poking of seeds

2. Planting of sugarcane — Grown in seed beds
3. Planting of chilies — Planting in Furrows

4. Planting of lady’s fingers — sowing on ridges.

A)1land4 B)2 and 3 C)3and 4
WIeleUeh! T4 .

A) FARA B) EEIEH C)am=

Which one of the following is a non metal?

A) Chlorine B) Hydrogen C) Copper
_____ T eaTen SR g

A) g B) fata wmm C) aroft

Sound cannot propagate through:

A) Air B) Vacuum C) Water
= 1IN IV ATTEAT ?

A) R, ATHEA B) Mo A C) wvE Hefaeh
Who discovered neutron?

A) J.J.Thomson B) Goldestine C) James Chadwick

15

D) 1, 2 afut 3

D)1,2and3

D) A 27ifut B Sgidt

D) both A and B

D) &,

D) Metals

D) TS

D) Rutherford



71.

72.

73.

74.

WHO = ferenfia wu i ?

WHO stands for

A) World health organization B) World health occasion

C) World habit organ D) Wide health organization
WTeATeAUeh! T TERITUETe! ShTH ShIUT Shid ?

A) TSt B) 3iAiTtheTd HIG! ST

C) UEiH HIct 31 D) SicTa<h! |al

Which of the following acts as disease carrier?
A) Housefly B) Female Anopheles Mosquito

C) Female aedes mosgito D) All of these

WA T Hieid JgATagredn Jrft AUt den Feer.
Which number will replace the question mark in the following number series?
2,5,10,17,26,?

A) 39 B) 34 C) 37 D) 41

Terrn SRft I 31 e,

Fill in the blank with proper number.

A) 46 B) 47 C) 48 D) 49



75.

76.

YT : WA oA TRt (L8101 AT, 77 7101 78 AT Seek gt

HIToTehT Ut ShRAT.

Complete the series:
STV, TUV, UVW, ?

A) VWX B) VXW C) WXZ

SRCEG =30, JLN=7?

If CEG =30, Then JLN =7

A) 36 B) 72 C)33

D) XWX

D) 27

Note: Observe the following Venn diagram and answer the following question 77 & 78

77.

78.

12

7 4 +— TR/ Farmers
T «— 3EST/ Masons
Tehelt STaeRdl Wherd TSR Shid 3TTRd ?

How many farmers are working as only masons?

A) 4 B) 6 C) 11

Tohelt AR St & TSN € el ShTH AT ?

/16/\ TR ! Caroenters
6

D)7

How many carpenter are there who work as farmers as well as masons?



A) 10 B)6 )16 D) 13

79. T eTeRdt stiewE.

Find the odd figure out.

]
]

A) B) C) D)

80.  Uehl Hichcieh Wd TAILOR 71 91se LIORTA 3@ foifgama, o) cam=t |iekfaes wd AUTHOR 7t
viee e o ?

In a certain code TAILOR is written as LIORTA, then how will you write AUTHOR in this code?

A) HUTOAR B) HOTRAU C) HTORAU D) HTOARU

8l.  TETCIE U ST SRV FToHT e SATheamed FHaert.

Find the mirror image of the question figure given below from the options.

9 3THAl/ Question Figure:




]
A) B) Q) 7 ~

D)

82.  Teemrean <teRdia UyATergTean AR AUTH HEan vatEmy Fas?

Choose the correct figure from the options which will replace the Question Mark in the box.

A) 94 B) 95 C) 99 D) 27

83.  HISTeN eclt, Tecien 1HE, TERTen o o amEmet 3¢ Fged @ Hig THUIRT Uit SHivTat ?
A) TTET B) Tt c) iz D) arar

If horse means Elephant, Elephant means Lion, Lion means tiger and tiger means Camel then the
animal with trunk is

A) Horse B) Elephant C) Lion D) Tiger

L

WAt T94 $HHTeh 84 o 86 AEA Ufgedl UgTen ga=a1 UaTeh w1 Hael 3Ty, aura vay foe=an uaren
<o USTol AT AT oA fergrean winft IR ue faet.

Instruction:

In the question below 84 to 86 the relationship between the first term and the second term is same
as it between the third and the fourth term, Taking this into consideration which alternative will come in
place of the Question Mark?



84. AEIM : OSWA :: CGKO : ?

A) QUYC B) DOPQ C) CQPW D) ZLMX

85. 49 :25::64:7

A) 81 B) 36 C) 16 D) 32

T RN LA

°~J

86.

N B = N =

87. I, GHIY & S-H ATATAC UTEWR HEY SIITUTRI o SATehelt U et

Which of the following diagrams indicates the best relation amongst profit, dividend and bonus?

0D,® 9 000

88.  TETGIC TSI ShIUTIEN URUT TG fehelt ?

How many triangles are in the figure?

/T~

A) 10 B)9 )8 D) 11



89.

90.

91.

92.

TR 1 3ATereIaR o TR 3118 @ 1 FSgaR o hIvT aR 376 ?
A) HHER B) AR C) HiTeaR D) R

If 1° October is Sunday, then 1°* November will be

A) Monday B) Thursday C) Tuesday D) Wednesday

WA ATl HIfoTeha TYATI-gTeaT ST ShiuTel STl A6t 2

In the following figure series which of the option figures will replace the question mark.

99 3ATkeAT/ Question Figures:

A A O
8 O K ?
O O O|lA
O O O O
@) O O
N oA o LA o LA o L&
QAR TR T U .
A) U= B) |td C) = D) TR
There are in all major plates on the earth.
A) Five B) Seven C) Nine D) Four
wEERE=EE a1 e,
A) TReAE B) ¥R C) g D) fue

Soil is found in the kashmir Valley.

A) Chestnut B) Regur C) Tundra D) Peat



93.

94.

95.

96.

97.

A) | B) IW C) e D) Aued

is a city of canals.

A) Venice B) Rome C) Milan D) Naples
YETdeh! ShIVTAT TIS9T Sadiuet = s ?

A) fearrete geiiushed B) UTemY C) fefewa et D) ST &9
Which is the strange region among the following?

A) Queensland B) Palmer C) Bilkish D) Ader
A=t T AT TR SATATIEN 31T ?

A) = B) g8 C) geeit D) Rifereent

Mono lava is the active Volcano in

A) China B) Hawai C) ltaly D) Mexico

WIeATeTteh! JRUUTAIE ShIVTA TSR SIRTUTIeR UERelt 318 ?
A) A B) ShichITd C) e D) o=t

Which of the following mountain ranges extends in north-south direction in Europe?

A) Ural B) Caucasus C) Alps D) Pyrenees

‘IYeh IR’ 2T 9T K0T WETd AT ?

A) TS B) 3TIfShent C) Ju D) gferur smfteRt

‘C Zech Republic’ country is located in which continent?

A) Asia B) Africa C) Europe D) South america
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98.

99.

100.

e feraTdict data wie 78t hIurd ?
A)Tqi B) STfeT C) aEt

What is the longest river in Australia?

A) Murray B) Darling C) Murrumbidgee
e fegerdiitan desee ShiuTea 29T 1R ?
A) TS B) ufvem anfiramt  C) atfeferan

The great Victoria Desert is located in?

A) Canada B) West Africa C) Australia

T TTHUT STRAT ST IV TS G hivaTd ST ?

In which year National Rural Health Mission was launched?

A) 2004 B) 2005 C) 2006

SPACE FOR ROUGH WORK
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D) eI

D) Lachlan

D) SceR AHNERT

D) North America

D) 2007



